Why Does the President Pyt Vegetables ik

Solve each system of equations below by the substitution method. Find 1
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Answers 1-6: solution in the nearest answer column and notice the two letters next to
Print these letters in the two boxes at the bottom of the page that contai
(4, 2) LD | the number of that exercise.
=2X —2x+3y=14
oo el @7 @ -axor
xty=12 X+2y=7
1,2 TR
4.2 (@) x=3y-1 (8) 6x—y=-4
(4, 8) HE X+2y=9 2x+ 2y =15
(1,-3) Ho| (3 y=2x-5 (@) x+y=1
4x—-y=7 : 2X —y = -2
(6, —3) NT
2x—3y=12 5x -3y = —11
ss  ro| @ O
xX=4y +1 XxX—2y=2
9,2 Pl
9,2) @y:—x+5 @X—Y=3
(7, 3) TH x—4y=10 6x +4y =13
5, 2) s| ® x-y=2 12 2x-y=16
— 4x -3y =11 —X+2y=-8
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